generate(II. );
Vsell.: T, =1;
evaluate(Il.);
¢ = bestOf(IL,.);
cr=0;
repeat until stopCriteria():
if no improvement for R generations do :
cr=cr+1;
M = max(round(8°® M), 1);
. = reduce(Il., M);
Pmut = Min(YPmut, 1.0);
end;
Hn . 0;
repeat M times:
select s € I, ¢ € II;
v = crossover(s,1);
v = L)
I, =1, U{v};
end;
evaluate(Il, U I, );
N, = reduce(Il, U II,, M);
Vs €Il : s = SAmutate(s);
Vs €Il, : with prob. p;n, do:
s = invert(s);

evaluate(Il.);
q = bestOf(II. U {q})
end;

vVt ell.U{q}:t = optimize(t),
r = bestOf(I. U {q});




